JL_

Multiplikation - vertikal

L 0se jede Aufgabe.
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
2.106 1.386 8.504 5.883 . 10530
. 5 . 5 . 5 . 4
10.530 6.930 42.520 23.532 2 6.930
3 42.520
s 23532
5 6 7 8
) 3.600 ) 7.758 ) 8.874 )  5.355 . 2200
. 2 . 3 . 7 . 8
7.200 23.274 62.118 42.840 s 23.274
;. 62118
s 42.840
9 10 11 12
) 6.055 ) 7.111 ) 6.403 ) 1.892 o 42385
. 7 . 7 . 9 . 9
42.385 49.777 57.627 17.028 0 49.777
n 57.627
. 17.028
13 14 15 16
) 6.469 ) 7.394 ) 9.214 ) 2.761 = 51752
. 8 . 3 . 9 . 4
51.752 22.182 82.926 11.044 u 22182
15, 82.926
6. 11.044
17 18 19 20
) 9.656 ) 2.934 ) 6.767 ) 1.920 - 57.936
° 6 ° 7 ° 9 ° 2
57.936 20.538 60.903 3.840 18 20.538
10.  60.903
20, 3.840
1-10195|90|85(80|75|70| 65|60 (55|50
[ Mathe ] www.CommonCoreSheets.de 11-20[45]4035[30] 25|20 15[ 10| 5 | 0




	Worksheet
	Lösungsschlüssel

